MELBOURNE: THE WORLD’S ‘MOST
LIVEABLE’ CITY?

1 By the middle of the century,
Melbourne and Sydney will be ...
London and Hong Kong.

a) bigger than
b) comparable to the present size of
c) the same size as

2. What does the presenter say about
Perth and Brisbane?
a) Their populations will diminish.
b) They will grow to the present size of
Melbourne and Sydney.
c) They will overtake Melbourne and Sydney in population by 2051.

3. According to the video, what is the main factor in population growth?
a) the birth rate
b) life expectancy
c) migration

4. The video states that 69% of Australians...

a) possess a car. 1.

b) use a car for work.

c) say they need a car. 2

5. What is the main conclusion of the report?

a) There should be a national population policy. 3.

b) Australian states need more money for schools.

c) Migration must be controlled. 4.
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